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QUESTION 1

A new Developer is having continuing conflicts with existing members of the Scrum Team, which is impacting the
delivery of the Increment. If necessary, who is responsible for removing the Developer from the Scrum Team?

A. The hiring manager is responsible, because they hired the Developer.

B. The Product Owner is responsible, because they control the return on investment (ROI).
C. The Scrum Master is responsible, because they remove Impediments.

D. The Scrum Team is responsible.

Correct Answer: D

QUESTION 2

The IT manager asks a Scrum Team for a status report describing the progress throughout the Sprint. The Scrum Team
asks the Scrum Master for advice. The Scrum Master should:

A. Talk to the IT manager and explain that progress in Scrum comes from inspecting an Increment at the Sprint
Review.

B. Ask the Product Owner to send the manager the report.

C. Tell the Developers to fit the report into the Sprint Backlog.
D. Tell the Scrum Team to figure it out themselves.

E. Create and deliver the report to the manager herself.

Correct Answer: A

QUESTION 3

Which three behaviors demonstrate that a Scrum Team is self-managing? (Choose three.)

A. The Scrum Team has all the skills needed to create an increment.

B. Developers collaboratively selecting their own work during the Sprint.

C. The Developers create their own Sprint Backlog, reflecting all work that is part of the Definition of Done.

D. The Scrum Team members are working within the boundaries of their functional description and nicely handing off
work from analyst to developer to tester to integration.

E. The Scrum Master is no longer needed.

F. Stakeholders are attending the Daily Scrum to check progress and work with the Scrum Master to optimize the
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functional scope for the Sprint.

Correct Answer: ABC

QUESTION 4

How do you know that a Scrum Team is cross-functional? (Choose the best answer.)

A. Scrum Team has all the skills to create an increment by the end of every Sprint.

B. A few of the Development Team members pair program and do Test Driven Development.
C. There are no conflicts within the Scrum Team.

D. Every member of the Scrum Team is able to perform every task.

Correct Answer: A

Reference: https://www.blueprintsys.com/scaling-agile/step-3-organize-in-cross-functional-teams

QUESTION 5

Five new Scrum Teams have been created to build one product. A few of the developers on one of the Development
Teams ask the Scrum Master how to coordinate their work with the order teams. What should the Scrum Master do?

A. Teach the Product Owner to work with the lead developers on ordering Product Backlog in a way to avoid too much
technical and development overlap during a Sprint.

B. Teach them that it is their responsibility to work with the other teams to create an integrated Increment.

C. Collect the Sprint tasks from the teams at the end of their Sprint Planning and merge that into a consolidated plan for
the entire Sprint.

D. Visit the five teams each day to inspect that their Sprint Backlogs are aligned.
Correct Answer: B

ttps://www.scrum.org/forum/scrum-forum/6289/questions
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